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Slope Review

Determine the slope of this line segment.
a) b}

. Determine the slope of the line that passes throogh (9,1 L and {15, 2T
=y - “)
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v ——
slopes of two lines are T"ﬁ[ and-11/6 . Are the twao lines |1|Lr||||ci@u:|di:u|-‘l‘ﬁlnr neather?

mmﬂm lines are =2 and -1/2. Are the two lines pamallel, perpendiculir, 16:1@
. Complete the chart: g

Eq_l.llllul! | I\3‘-|"-'|“-_ ¥ | yetntere|l
| e 4 | i
b) -y=5x-2 o R |
Y= —5x+2 5 E 2 _
€) 2y-3=8x-3%7
2y = §x el LT , 5
H= s b i
d)y 3y+1)=2x+9
A2 =2e+q-3 | a9y ;
3y= 2x tl | /32 2!
y=djzw + 3 |
€ Ry+a=Ix+1 | :
ytd=4w+a 4 s i
di=d9x o i
) Jx+592y-5+5 E " L =
Ix 110 = 2y | /_l E

?:;_1: +6= “ hi % i 155

L
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g 7 ;
= % .»)
ey = el > b L R S T
..5'_:-;[-!'.15-20 : ! | .|j/
N =2 5
g=-2 +'%| i
5 . gs 6/ i Y
S, a) Theslope parallel tothex-axisis ___ /1 . ',
b} The slope perpendil:ularmthe :t-a:-c.isis yf,l RE e
€} The slope of a vertical line is So S [
d} The slope of a harizontal line is L N RN |
&) The perpendicular slope to 5is __ = ‘,15 - :
1 o
. . Determine the slope and the y-intercept for the graph of this equation: 1o f."-_'m- G {y=mxth)
|I.’ AT -‘_;"- J 4
T il =L
m= ¥ )

b 'j»-\l"dl_i \b
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tj:l‘x-!-f

dicularto 3y -4 = §x + 5

iy = -

k) = Fx T4 v = % i oot i
:j';_i?;_x +3 3 Eig /gf

e g ‘
1(1,12) m=19/6. : ak 3
| i) 1
le i
By = L(iat7) e
1 dg-1aK = 72 + 42—
parallel to 3( 2y — 1) = 12x + 3 =g = 95
B 3=lix<t3 -9 g
by =12x+6 k- —5
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T

421, -2). 1f the slope gfrale 0 the y-oxi5 nd I

| |

nts (5, 6k) and (-3, 4k). If the slope is{perpendicular o 13, )ind k.
=T
)
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1) N

-3k, 2) and (&, k). If the slope isParallel w the x-axis,nd k.
S (428
[}

)




Untitled.notebook May 17, 2018

b) parol\f\ 1y e rpf-nd'ac, ular
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Slope of the line CIY

Parallel, Perpendicular or

oS i Neither
b3 ke e
-3/4 11( !—?P_w'\i\ P
=i end Jn [ i ‘Gur'
09 'I\'I'E\.‘\
=il 'Pt'f“':'t'—f‘r.-.u Lo
Undelingd

e n“"f“)-_ *-""CllLu S

BG4

AND
AND

the following lines are parallel or perpendicular.

21, 4) Dl 5)
=1) NG, 2)

CiA,

ation Tor the following reclnnglcs { Uaing g Fhe slopes }

=

|
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ng lines are parallel or perpendicular.
AND Ci-1,4) 1M1, 5)
AND Cid. -1 D5, 2)

2 information for the following rectangles: | Ui Fhe ¢lepes )

b) 5” c) =
2 L 1l ¢ %,
¥ [3 G Ly g
¥
i e Tpose v
| 9 =y
a_g_ -__IJrl _}1
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